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Instructions: |

()  All questions are compulsory. Internal options are given in question Nos.
05 to 20.
(i)  Marks of each question are indicated against it,
(i)  Answer Question Nos. 05 te 08 in about 30 words each.
(iv) Answer Question Nos. 09 to 12 in about 75 words each.
(v) Answer Question Nos. 13 to 17 in about 120 words each.

(vi) Answer Question Nos. 18 to 20 in about 150 words each.
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Choose correct options:-

(i) Conversion of solids in to gases directly is-

(a) - - Evaporation’
(c) Condensation
(i)  The chemical symbol of sodium is-
(@) Na
(c) SO4

(i)  The frequency range of ulirasonic waves is-

(a) Below20Hz

(1+1414+1+1=5,
Wby ST
(d) o (feirewon)
(o) Cd
d K
(b) 209 20,000 Hz D 4™
d 9
(b) TfED
(d) [ADLIES]
(b) SuriRer #
(@) ¥y #
(by  Sublimation
(dy Freezing
(o) Cd
d K

(b)

20 1o 20,000 Hz °

(c) Above 20,000 Hz (d) Zero
(iv) Decease caused by virus-
(a) .AIDS (b) Tuberculosis
(d) Cholera (d) Typhoid
(v}  Contractile proteins are found in-
(a) Bones (b) Cartilage
(¢} Blood (d) Muscles
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(A) (B)
) e Regid (a8 Nm?
Gy et w@aeE @ fAam (b) HIB
(i) S8 H [N BT GABHIT (c) IR T3 Hiske
(ivy T©E (d) SHETRITHI
(v) o T (e) Wil Sfeed
()  Bfeam
Match the column:-
(A) (B)
()  Atomic theory (@) Nm*
(i)  Laws of Chemical combination (b) Fungus .
(iii)  Separation of colours in dye (¢} Lavoisier and Proust
(iv) Pressure (d)  Chromatography
(v)  Skin diseases (e)  John Dalton
(f)  Kelvin
U3 W8 e ¥ R wmm wRa-— (1+1+1+1+1=5)
()  ETBTA TR H oo BT g Hear | (g8 /<)
. ' Y
IR 1) G R o ol 2 B L A, g1 (Ae,(80,) /0, (SO, )s)
(i) faRemuH & 8% SO - - |+ | B[ L /e i)
(iv) Y& ST Bl FAB.....oorrrvrrree et e e BIaT B 1(100°C / 80°C)
Fill in the blanks by corract option:- _
(i) Photoperiod affect the.........ccooevvvreiiiiniii (flowering / Rabi)
(i)  Formula of Aluminium SUIPhate iS..........ocoooovrrireciiciiinins (s, (80,) /AL, (50, )s)
(i)  The rate of change of displacementis called...................c....ei. (Velocity / acceleration)
(iv)  The boiling point of pure water is...............ccccvcvimrercnciinsissssesiscesmesvessennnes (100°G / 80°C)
(V) NOISE PrOAUCES. .. .cvirierii e e e e e e a s rrrn e aaa e pollution (sound / water)
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() Rrore B—wr P 82
iy g @ ﬁﬁ'vﬂewwﬁ'f 1A
(i) R anaﬁ TRy 1 SaTEReT AR |
vy faata % w@fa o e fFaer e 87
(v). TSR Wb 3 TEgieRs daeiRar o W ffy |

Answer in one sentence:-

(i) Solution is which type of mixture?

(i)  How many states of matter are there?

(i)  Give an example of simple harmonic motion.
(iv}  What is the speed of sound in vaccum?

(v)  Write the name of nitrification bacteria in Nitrogen cycle.

95 Sas B aRaia #f @

What is a tissue?

Yar / OR

g P o s 87

What are the functions of the stomata?
w6 o] T 87 | @)

What is molecule?

31erdT / OR

UF /e qar 87

What is a mole? (1mole)
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- What afe Canal rays?

3teraT / OR
mmmwmwmﬁm|

Write any one feature of Rutherford's Atomic model.
v an 87
What is pbwar?

 aiorEr /OR
St weeror w1 frm fafag |
What is the principle of conservation of energy?
AR BT STAERh O F91 wE #?
Why are Lysosmes known as suicide bag?

3191 / OR

@)

()

@THT et Y quiicis TR f¥eelr 30t @ &7

Why Is the plasma membrane called a selectively permeable membrane?

wi=g IR &1 Amifda o el |
Draw the labelled dlagram of an animal cell.

JYqr / OR
urey HIET BT AHifed R TEd |

Draw the labelled diagram of a plant cell?
TRT SURE FT 87

What is soil erosion?

a7 / OR
M= 869 woa a1 87
What is the green house effect?
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List any three human activities which lead to air pouﬁ:ion.
3eEr / OR
ST UguYl Ve B BIg A9 Su frRag |

Write the methods of controlling water pollution.

Y13 TS b1 &1 fbd UBR $d Fear 87 Ragen difoig | | @)
Explain how the human ear works.

AYdT / OR
AR & SRR &1 auiF Efﬁﬁ’lt{-l
Explain the working of SONAR.
WA4 TG T 87 IR0 Wﬁﬂ%ﬁﬂm @
What are Isotopes? Write with example

AYUdr / OR

TR T &2 SareRe id R

What are isobars? Write with example.

.15 HyHad) ured @1 S faftay | (@ 9r) ()
Write importance of apiculture (Honey bee cultivation) (any four)

Y41 / OR
wame (Ffifay) & daRal | Advam 3 fog IR Surg fafay |
Write four preventive measures for the deceases caused by poultry birds.
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g6 e @f @ seqor foilae | (@F 9R) (4)
~ Write the characteristics of Clas;s Aves. (any fm-xr} |
o1 / OR
UE A6 9 @ BIg uR v faRag |
Write the four features of MohocotyledOnae.

Y17 THIByv B Gdfe iy | (4)

Write the universal law of gravitation,

34T / OR
Sl g1 87 fafag |
What is buoyancy? Explain.
w18 ()  Tfesr Sort wr ufaifle dfng (2+3=5)
(i) 15 kg BN VP TG 4 ms”' D THEAF 9T | Afaefia & | avg B 1w wat fha

grifr?

(i) Define the Kinetic energy.
(i)  An object of mass 15 kg is moving with a uniform velocity of 4 ms™'. What is the Kinetic

energy possessed by the object’

34T / OR
() 1J ®1d B gRafa e |
(i) UD Hell 15 kg BT A1 ORI H 1.5m HUR ISP AU R W 7@ar 8] IqPS gRI

A W fry v wrl &1 R Fifd |

()  Define 1J of work.
() A porter lifts a luggage of 15 kg from the ground and puts it on his head 1.5m above the

ground. Calculate the work done by him on the luggage.
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() wE B A a9 sAME FHAl & A MY AR W AR FH O § ok o9
fRrERen & Tferefier 8] & o 9w 9 3R ® W €, i

(i) Write the first law of motion.
(i)  Why do you fall in the forward direction when a moving bus brakes to a stop and fall

backwards when it accelerates from rest?

3Uqr / OR
i) e &1 g Ay faRag |
(i) © aAftTerEE HHERy B dig afy § ggaar w1 ¥ o dee areh g B A
Bl gpe H B3 F Bl 27 wWe Y | y

(i) Write the third low of motion.

(ii) Explain, why it is difficult for a fireman to hold a hose, which ejects large amounts of water at

e

a high velocity.
Y20 3T @Ry @ BIg dta smawad Rerfd| ferlan (1+1+1+1-1=5)

Write any five conditions essential for good health.

dar / OR
YT Ud SehTEe It 7 B1g dfg i forlay |

Write any five differences between communicable and non-communicable diseases.
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